

Divide by 10^{-3} (I)

Find each quotient.

$$30 \div 10^{-3} =$$

$$71 \div 10^{-3} =$$

$$76 \div 10^{-3} =$$

$$90 \div 10^{-3} =$$

$$81 \div 10^{-3} =$$

$$40 \div 10^{-3} =$$

$$91 \div 10^{-3} =$$

$$52 \div 10^{-3} =$$

$$63 \div 10^{-3} =$$

$$38 \div 10^{-3} =$$

$$72 \div 10^{-3} =$$

$$19 \div 10^{-3} =$$

$$39 \div 10^{-3} =$$

$$70 \div 10^{-3} =$$

$$18 \div 10^{-3} =$$

$$43 \div 10^{-3} =$$

$$55 \div 10^{-3} =$$

$$9 \div 10^{-3} =$$

$$62 \div 10^{-3} =$$

$$83 \div 10^{-3} =$$